Graphs of Waves

Revealing the Shape of the Wave



Wave Graphs

* Aside from wavelength, frequency, speed, and
amplitude a wave can be unique 1n 1ts shape or
form.

* The shape or form of the wave 1s the pattern of
disturbance.

* A common type of pattern 1s a sinusoidal wave
(or more simply a "sine wave"). This 1s a
wave pattern that has the same curved shape as
the graph of the sine function.
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Graph of Sound Wave Made by Tuning Fork:
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This 1s the output of an oscilloscope. An
oscilloscope displays voltage vs. time — 1n this
case the voltage output of a microphone.



Example — Find the Parameters 4, f, T, A, v
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Find the Parameters 4, 1, T, 4, v:
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Find the Parameters A4, 1, T, 4, v:
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Find the Parameters 4, 1, T, 4, v:
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Find the Parameters 4, 1, T, 4, v:
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Find the Parameters 4, 1, T, 4, v:
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Find the Parameters 4, 1, T, 4, v:

.1 -1 0 1

Pressure Change (Pa)

0

-]

f :Tl :0.0239{256H5/J

4//?\‘_‘(\3'9 ms | mﬂo.wf@

1 :&\ 3 /405 MW(S)
|

v=Ff A1=256-1. 34{343%/5«}

é“ =E: Wvlm 0.09 Pa

\ 1 / 2 \/l{st;nce (m)
N



